
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/15hh-gearbox-assembly
7/3/25

15HH Gearbox Assembly
Product Images

Description

Index
Number Part Number Description Size Qty

 6284842 Gearbox Assembly (Items 1 thru 35)  1

https://jpw-catalog-qa-b2c-2.corevist.cloud/15hh-gearbox-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/15hh-gearbox-assembly
7/3/25

1 TS-1504101 Socket Head Cap Screw M8x50 4

2 6284843 Oil Seal TC28-40-8 1

3 6284844 Plug, NPT PT1/4”-19 2

4 6284845 Gearbox  1

5 6284846 Gasket  1

6 BB-6204ZZ Bearing 6204ZZ 1

7 6284848 Helical Gear  1

8 6284849 Gear 47T 1

9 BB-6201Z Bearing 6201Z 3

10 6284851 Key 5×5×10 2

11 6284852 Single Geared Shaft 18T 1

12 6284853 Double Geared Shaft 18, 22T 1

13 6284854 Gear 71T 1

14 6284855 Key 6×6×40 1

15 6284856 Gear Assembly  1

16 6284857 Spring 0.6 1

17 6284858 Steel Ball 6 1

18 6284859 Gear Shaft  1

19 6284860 Oil Seal SC25-47-6 1

20 6284861 Bearing 6204Z 1

21 6284862 Clutch Handle  1

22 6284863 O-Ring  1

23 6284864 Gearbox Cover  1

24 6284865 Knob 32-3/8”-16NC 1

25 TS-1482051 Hex Cap Screw M6x25 6

26 6284867 Pin  2

27 6284868 Sprocket 12T 1

28 TS-1550041 Flat Washer M6 1

29 TS-1482031 Hex Cap Screw M6x16 1

30 6284870 Chain 06B-47 1

31 6284871 Clutch  1

33 15S-433 Hex Head Bolt With Washer M6-1.0Px12L 1

34 TS-1503031 Socket Head Cap Screw M6x12 1

35 6284874 Bearing 6201 2

https://jpw-catalog-qa-b2c-2.corevist.cloud/15hh-gearbox-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/15hh-gearbox-assembly
7/3/25

Additional Information

Stock Number 1791213-4

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/15hh-gearbox-assembly

